[06] {E/RHET- & (&)

X2 Tsil FABBAN)
# s BRA 13,038
ER A& 601
BRTAINACHI 3,506
iidi) 282
ZAHT 3,443
=1L 5,317
RehA 919
& AT El 1,392
iR K FE R 3,124
FRET— ZET 609
BT — FHET 364
FIRBT = & HT 1,080
FiREESRE 773
FiRERAET 1,099
BEEARH 755
A 0 ET 795
FEFNET 858
EiRAET 1,472
AHE 690
HFW=THE 1,028
& IILAF 1,092
& ILFEET AT 490
& oK & i B i 424
Nt —TH 1,002
FEEERE 2 1,075
Nt T B 544
INGTAR > TG 590
INGR 1,200
FERE AR 800
FERE AR 773
3 #th 75 [ th AT 297
78 58 = £ AT 6,827

20154 1H

100

) 3SR BEZEME

90

80

{0 N
B0 o
50 e
40 o,
30
20 e
10 e

0
74.2

(A) FIRER /&

25
21
2.0
1.
> 1.2
1.0
0.5
0.0
iR~ HHE BWZTE~BENEERM

29%

HRERAT~HHE

FRAERES

71%

FWZTH~FEAE X

-1/1-




[06] HimHT-FaHR (E)

X2 Tsil FABBAN)
# s BRA 39,740
ERAIT&E 2,726
BRTAINACHI 14,650
iidi) 3,761
ZHET 3,828
=1L 22,448
iy ] 1,668
FEE 1,149
= HIT 1,931
FEXRMARE 3,791
AAXEA2 T —8l 3,339
ABET @ = ZHET 1,530
fiE] A /)N B 2,327
bt B AR AT 3,257
EE ML AT 1,372
KERT—TEB 5,668
WRET—TB 3,663
WIKET=TB 2,279
SR/ET—TH 2,489
SHE_TH 3,820
EHET—TB 5,440
EHBETZTH 4,473
X R T 2,272
EiRAET 7,997
AHE 816
HWLWZ=TH 1,054
& IILAF 1,351
& ILFEET AT 577
& oK & i B i 517
Nt = TH 801
FEEERE 2 1,316
Nt T B 330
INGTAR > TG 346
INER 1,173
FERE R 1,163
3 #th 75 [ th BT 483
FaERE T 8,681

20154 1H

(%)

100

3R BIRERE

90
80

70 -
60 -
50 -
40
30
20 -
10 -

0

76.5

(A)
25

2.0

15

1.0

0.5

0.0

0.9

HiRERAT~HHE FW=TE~EIEER

FRAERES

11%

89%

HRERAT~FHE  BLUZTE~BEBERHR

-1/1-




[06]) Fa{EIR

X2 Tsil FABBAN)
# s BRA 8,629
ER A& 540
BRTAINACHI 2,100
iidi) 761
ZHET 912
=1L 3,191
RehA 341
% Pl 749
AR T — EET 275
FRET ZZHT 39
FIRET =] 307
FiREE SR 161
HimE KA 232
EEAH 201
AR F0ET 210
AEHAET 237
{E/RHT 695
SCERHET 481
EHETZTH 626
EHBET—TH 554
SHET"TH 393
SHE—TH 268
WKET=THE 260
WRBET—TB 155
KEBT—TB 582
EEMLAT 47
bt B F A AT 45
i8] 2R /)N R 348
B BT & — Z ET 358
BAEAS 7 —HI 917
(i Cib 311
4= Bl 114
Rt 34
[N ] 289

20154 1H

(%)

100

3R BIRERE

90

80

70 -
60 -
50
40 -
30 -
20
10 -

0

76.3

FRE#R &

[N
a1

._\’

7
/
&

FRAERES

21%

#1 iR ER Al ~ T

79%

FEHET =T B ~ B K4

-1/1-




[[06) Ki&fE 20154 1K
=8B Fr FIAEHNA

) 3K BEERE

100
90
80
70 -
60 -
50 -
40 -
30 -
20 -
10 -

75.8

A FIRER /&

3.5
3.0
2.5
2.0
15
1.0
0.5
0.0

0.0

iR BRAT ~ KR EERT

w_ MAEHES

= HiRERAT ~ KR AE AT

-1/1-



